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You are expected to answer 15 questions.

Use the answer booklet for yonr answers.

Use the space provided for your werking,

You are not allowed to use the caleulator.

Read the question carefully before answering, Don’t rush.
Your teacher will read the question to you.

“ A .
)

X0 s D
- vva.\ X A’/} / - i

TIME: 08:30 -09:45
DATE: 12 October 2017

5 ERF SAASTA

Hatimﬂaomrcn E Suﬁmm‘nm&gcnw lorSixn



Grade Two
1. Write down the 8 term of the sequence:-
16; 22; 28; 34; ...
2. Write down the unit’s digit of the 21* number.
6; 11; 16; 21, ...
3. Cher counted in 4’s as follows:-

$; 12; 16; 20; ...
What position does the number 60 occupy ?

4. Each letter in the following addition problem represents a digit.
Find A+B if A and B are digits?
AB
A B
+A
12

=

o

5. Find the value of : .
A IR YA

6. In the game called Pyramaths the rule is to double the number
on the left and add to the number on the right to get the number
in the box above it. Find A.

31




7. If 175+ 195 + 215 = 585 then without further working write
down the answer to:-

245+ 175+ 183

8. How many blocks are there in this stack ?

9. Five different numbers starting from the smallest number 10 are

added.
What is the sum of the 5 numbers if each number is 2 more than

the previous number?

10. Study the following problem. Do you know that # is doing to the
two numbers.

456=2 5#3=7
6H4=8 3#3=3
Find the value of ;-

0#6



11.

1 2 3

The 1°* diagram has 1 square.

The 2 diagram has 3 squares.

The 37 diagram has 7 squares.

How many are needed for the 6" diagram ?

4 more than % of the chocs is 20 then what is ¥ of the choes?

12.
13. Farah was on a certain step on a staircase. She climbed up 4
steps and then went down 6 steps. She then climbed up 3 steps.
She was on step 7. On which step did she start from?
14. Joseph gave% of his money to Siswe.
Siswe still has R100 less than Joseph.
Together they have R500.
How much did Joseph initially have?
15. Who is the tallest?

Barry is Sem taller than Kerry.
Kerry is 10cm shorter than Desiree.
Barry is 15cm taller than Bugs.



